TEBOR S T AR 2R MR —1TF7E=E Gerox(c) 2016

http://www.gerox.com

MATLAB IZ &k % byte B¢ H 5D single,double e RA~ADZEH

C,C++,Java B ETIX, THEAHFE-IEIF v X b, MATLAB T3 typecast B ZH 2 (X,
FHEICEMTEDN, ST HATHBZEEDRUVTMATLAB ST TRITI HAE
NI 5, FEV/NREIL. 8byte TRIRY 5 double B & 4byte THRIRY % float &
DHEZI LD ET B,

float BMDEZH (IEEE754 TA4A—< Y )
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data=[hex2dec('cc'),hex2dec('cc'),hex2dec('cc'),hex2dec('bd')];%-0.1
%data=[hex2dec('00"'),hex2dec('00"'),hex2dec('7a"'),hex2dec('44"')];%1000
% for little endian
data2=dec2bin(data(end:-1:1),8)"';data2=data2(1:end);

%data2 = 10111101 11001100 11001100 11001100

%el = 0111101 1

%fl = 1001100 11001100 11001100
datab=zeros(size(data2));

for i=1:length(data2);datab(i)=str2num(data2(length(data2)-i+1));end
sl=datab(32);

el=datab(31:-1:24);

fl=datab(23:-1:1);
(-1)~s1*2~(sum(el.*(2.~[7:-1:0]))-127)*sum([1,f1].*(2.~[0:-1:-23]))
typecast(uint8(data), 'single’)
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double BMEZE (IEEE754 74—< v 1)
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switch(1)
case 1,
data=[hex2dec('00"'),hex2dec('00"'),hex2dec('00"'),hex2dec('00"'),...

hex2dec('00'),hex2dec('00"'),hex2dec('@a"'),hex2dec('40"')];%3.25

case 2,

data=[hex2dec('00"'),hex2dec('00"'),hex2dec('00"'),hex2dec('00"'),...
hex2dec('00'),hex2dec('00'),hex2dec('0a"'),hex2dec('c0"')];%-3.25

end

% for little endian

data2=dec2bin(data(end:-1:1),8)"';data2=data2(1:end);

datab=zeros(size(data2));

for i=1:length(data2);datab(i)=str2num(data2(length(data2)-i+1));end

sl=datab(64);

el=datab(63:-1:53);

fl=datab(52:-1:1);

(-1)~s1*2~(sum(el.*(2.7[10:-1:0]))-1023)*sum([1,f1].*(2.7[0:-1:-52]))

typecast(uint8(data), 'double")




